Calculus T
Chapter 2 Test Review

Use the graph to find the requested values.

1) lirgif(x): 2) lim 7 (x) =
/7 3) limF(x)= 4) limf(x)=
// x—>-1 X0
) L . 5) lim #(x) = 6) £(1) =
/ Py X —>—0
AN 7) hrg\ f(x)= 8) £(-4)=
N
,I,I 9) F(-1)= 10) lim 7 (x) =
Using the given piecewise function, find the requested values and justify your answers.
11) l|m f(x)= 12) l|m f(x)=
xt—bx-2 if x<-1 13) lim 7(x) = 14) limf (x) =
f(x)= X" +4 if -1<x<3
12 = 15) £(2)= 16) £(4)=
2x+5 if x>3 )
17) lim £ (x)= 18) £(-1) =
19) £(3)= 20) lim £ (x) =
Find the following limits.
. x*-2x-8 x?-2x-8 B5x -9
21 - = 22) lim=—————= 23) | =
)xll—Too x-4 )!«—>4 x-4 )xlin3x -5
2-6x-3x° S5x sinx _
24 —_— 25) lim———— 26) lim
)Ix»wZX ‘8x-2 )xlinzx 13x-10 ®) pal X
2 3 6
27) lim X+ 2% 10, 28) lim X" ~6X°=6 . 5g) jim X6 .
x>l x? -1 x>oHx® +3x% —Bx “‘”«/Zx +5
30) lim—— 31) lim9-= 32) lim 4x - 6=

x—1 ‘X _ 1‘ x—3 X—>—®



Determine if the following functions are continuous or not. If not, state its type discontinuity and
where it occurs.
3
x> +27
X +3

_2x-6

33) f(x)= _W

2

34) f(x)= 2 35) £(x)

Determine whether the following piecewise function is continuous. Show all work that leads to
you decision. (A sketch may be helpful in determining your answer)

-3 x=<-1 1 3
36) F(X)={x°® -1<x<2 37) F(x)=1 x4 ~°
2x+4 x>2 2x-7 x=>3

For each of the following, find the value of 'a’that will make 7(x) continuous for all values of x.

ax +1 x<2 ax® -2 x<-6
38) f(x) = 39) f(x) =
) 1) {a+\/x+14 X >2 ) F(x) {—5/\’—8 X >—6

40) 6raph a function that meets the following criteria. Assume the graph is continuous unless
contradicted by the criteria.

lim #(x)=0 limf(x)=2
lim £#(x) =00 lim 7 (x) =-
x—3" x—3

A-)=-1 A0)=0  A=-1

IXimlf(X) =1 7(3)= DNE

f2)=0



